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Acyclic shortest paths demo

- Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

- Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

- Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

- Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.

relax all edges adjacent from 4
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

- Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.
« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.

O )
O
Q )

)
®)

relax all edges adjacent from 6

v
6
v distTo[] edgeTol[]
0 0.0 -
1 5.0 0—1
2 14.0 5—2
3 17.0 2—3
4 9.0 0—4
5 13.0 4—5
6 25.0 2—6
7 8.0 0—7

33



Acyclic shortest paths demo

« Consider vertices in topological order.

« Relax all edges adjacent from that vertex.
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Acyclic shortest paths demo

- Consider vertices in topological order.

- Relax all edges adjacent from that vertex.
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